. VCE & PDF https://www.pass4itsure.com/jn0-347.html
g 2024 Latest passditsure JNO-347 PDF and VCE dumps Download

PassditSure.com

JINO-3470%As

Enterprise Routing and Switching, Specialist (JNCIS-ENT)

Pass Juniper JNO-347 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass4itsure.com/jn0-347.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Juniper
Official Exam Center

@ After Purchase

@ Guarantee

O Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

Latest INO-347 Dumps | JNO-347 Study Guide | INO-347 Braindumps 1/4


https://www.pass4itsure.com/jn0-347.html
https://www.pass4itsure.com/jn0-347.html
https://www.pass4itsure.com/jn0-347.html

. VCE & PDF https://www.pass4itsure.com/jn0-347.html
g 2024 Latest passditsure JNO-347 PDF and VCE dumps Download
== / PassditSure.com

QUESTION 1

Click the Exhibit button. Referring to the exhibit, which type of route is displayed?

A\ Exhibit

ugerfrouter> show route 00 extensive

inek.0: 20874 destinations, 415985 routes (20873
active, 0 holddown, 1 hidden]
Q.0.0.0/0 (2 entries, 1 announcad)
TSI:
KRT in-Kernel 0.0.0.0/0 -> [indirect (262142) }
CSPF area : 0.0.0.0, 1894 ID : 0.0.0.0, LEA btype : Extern
*Aggregate Preference: 130
Eext hop type: Tediedck
hddress: Ox157d4008
Fext-hop reference count: 16000
Bext hop type! Router; Next hop index: 262143
Hext hop: 172.16.0.1 via ge—ﬂfﬂf!.ﬂ, selected
Kext hop: 172.16 4.5 via ge=-0/0/4.0
Frotocoel next hop; 172,16.1,1
Indirect next hop! 1322570 262142
Stace: shctive Int Extz
Lacal AS: 14203
Age: 15:18 Hebrac?: O
Task: Aggregate
Announcesent bits (3): 0-KRT 2-
OSPF JT-Resolve tres 2
A5 path: I
Flaga: Generate
Resclve Depth: 1 Active
Contributing Routes (7537):
144.91.0.0/16 proto. BGP
144.243.212.0/24 proto

BGP
144.243.214.0/24 proto
nap
146.149.32.0/19 proto
BGP
146.222.124.0/24 proto
BGP
146,222 128.0/24 proto
BGP
146.222.134.0/24 proto
BGP
146.222.136.0/24 proto
BSE
146 222 139 024 proto
BEE
A. generate.
B. martian

C. aggregate
D. static
Correct Answer: C

From the exhibit se see: Contributing Routes Note: Route aggregation allows you to combine groups of routes with
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common addresses into a single entry in the routing table. This decreases the size of the routing table as well as the
number of route advertisements sent by the routing device. An aggregate route becomes active when it has one or more
contributing routes. A contributing route is an active route that isa more specific match for the aggregate destination.

QUESTION 2

What are two terminating actions of a Layer 2 firewall filter? (Choose two.)
A. reject

B. accept

C. log

D. discard

Correct Answer: BD

QUESTION 3

Click the Exhibit button.

-, userfR?2# show rouling-options
ISP A ronter-id 192.168,100.2;
AS 65501 wlonomons svs L5073 ¢ il
‘ . £ syslem 6503 AS 65502
2L A0
L) userfR?2§ show prolocols bgp =/
\ . gqroup exlernal b \".r =
A v, group exlternal a | :}-“f
s\ peer-as 65403 ; /!
v\ neighbor 172.31.1.2; ’e5
S } S
o\ g
L W > ;
o\% AS 65503 C",{i':q
= o
;YO0 ge0/0/1.0  ge-0/0/1.07 1)
loQ/RID: 192.168.100.1 | L~ A7 100/RID: 192 168.100.2
py A 1722410/30 (2] po

You are unable to establish a BGP session between R2 and ISP-B. Referring to the exhibit, what must be changed in
the configuration?

A. A local address statement with the 00 address must be added to R2 under group external-a;
B. An import policy statement must be added to R2 under group external-a to allow ISP-B to peer.

C. The type external statement must be added to R2 under group external-b.
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D. The peer-as statement needs the AS number for ISP-B.

Correct Answer: D

QUESTION 4

Which device is used to separate collision domains?

A. switch

B. router

C. hub

D. firewall

Correct Answer: A

Modern wired networks use a network switch to reduce or eliminate collisions. By connecting each device directly to a

port on the switch, either each port on a switch becomes its own collision domain (in the case of half duplex links) or the
possibility of collisions is eliminated entirely in the case of full duplex links.

QUESTION 5

Which two port security features are dependent on the DHCP snooping database? (Choose two.)

A. MAC limiting

B. dynamic ARP inspection

C. IP source guard

D. storm control

Correct Answer: BC

B: Dynamic ARP inspection (DAI) prevents Address Resolution Protocol (ARP) spoofing attacks. ARP requests and
replies are compared against entries in the DHCP snooping database, and filtering decisions are made on the basis of
the results of those comparisons.

C: IP source guard mitigates the effects of IP address spoofing attacks on the Ethernet LAN. With IP source guard
enabled, the source IP address in the packet sent from an untrusted access interface is validated against the
SourceDSN MAC address in the DHCP snooping database. The packet is forwarded if the source IP-MAC binding is

valid; if the binding is not valid, the packet is discarded. You enable IP source guard on a VLAN. EX Series switches
support IPv6 source guard also.
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